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DOW30 18339.24 (+0.61%)
NASDAQ 5318.55 (+0.24%)
S&P500 217137 (+0.53%)

NIKKEI225 1646540 (-1.31%)
SHANGHAI 2987.65 (-0.34%)

FTSE100 6849.38 (+0.61%)

DAX30 10438.34 (+0.74%)

CAC40 443245 (+0.77%)
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1Y 1.2825%  (+0.25bp)
2Y 1.2575% (-0.50bp)
3Y 1.2525% (-0.50bp)
5Y 1.2650% (-1.75bp)
7Y 1.2800%  (-2.00bp)
10Y 1.3200% (-2.50bp)

1*2Yy  -2.50 (-0.75bp)
2*3Y -0.50 (-0.00bp)
2*5Y 0.75 (-1.25bp)
3*5Y 125 (-1.25bp)
5*7Y 1.50 (-0.25bp)

5*10Y 5.50 (-0.75bp)

*CRS 2|

1Y 1.1950% (-1.00bp)
2Y 1.0400% (-1.00bp)
3Y 1.0100% (-1.50bp)
5Y 09450% (-1.50bp)

7Y 0.8900%  (-1.50bp)
10Y 0.8600% (-1.50bp)
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